DU BEd Special Education Visual Impairment

Topic:- DU_J18_BED_SE_TopicO1
1) Which state in the country has the largest number of districts?

SN B BH W U W weW Wl faen/ gaue §

[Question ID = 3936]

1. Maharashtra / HgRT¥ [Option ID = 15742]

2. Tamil Nadu ;Hﬁﬁ g [Option ID = 15743]

3. Uttar Pradesh / 5% 9591 [0ption ID = 15744]
4, Madhya Pradesh / el G [Option ID = 15741]

Correct Answer :-
+ Uttar Pradesh / SR Lh [Option ID = 15744]

2) Who is the author of the book ‘My Experiments with Truth'?

"Hed & WANT (My Experiments with Truth) TS J&I® & 4@ $14 82 [Question ID = 3886]

1. Bal Gangadhar Tilak / &I TRMER IGRED [Option ID = 15542]
2. Vinoba Bhave / fd=a1 41d [Option ID = 15544]

3. Mahatma Gandhi / HBTHI TMiEl [Option ID = 15543)

4, Maharishi Arvind / T8 3Rfdg [Option ID = 15541]

Correct Answer :-
. Mahatma Gandhi / IIEﬁ:ITTﬁ‘Eﬁ [Option ID = 15543]

3) Education as a subject of legislation figures in which list.....?

faft & fawa & wu o e few Ot o o<t 87

[Question ID = 3902]

1. Union List / ¥€ig ¥t [Option ID = 15605]

2. State List / I Fdl [Option ID = 15606]

3. Concurrent List / E’ﬂﬁ?ﬁﬁﬁ [Option 1D = 15607]
4. Residuary List / 3@t gt [Option ID = 15608]

Correct Answer :-
+  Concurrent List / §Hdd! ¥ [Option ID = 15607]

4) ‘World Environmental Day’ occurs every year on ?

fay gafavor féaw #=mar ST 872 [Question ID = 3887]

1. 21 June [/ 21 G [Option ID = 15547]
2. 5 June / 5 9 [Option ID = 15545]

3. 4 April / 4 3Ud [Option ID = 15548]
4. 15 June / 15 S [Option ID = 15546]

Correct Answer :-
« 5June /5 Y [Option ID = 15545]

5) For a teacher, which of the following methods would be correct for writing on blackboard?

UF AT F firg, & a1 ) fred & e Frafaf@a & & o= @t usfa 9@ 82 [Question ID = 3922]

1. Writing fast and as clearly as possible. / d6il & TUT 581 d HHd &1 WY @1 [Option ID = 15685]
2. Writing the matter first and then asking students to read it. /GawyH fawgasg & for@ 31 qu e faenfifal &1 38 ug & forg &&= [Option ID = 15686]
3. Writing the important points as clearly as possible. / T8T Idl &1 w181 d& TR &1 WA § R [Option ID = 15688)
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4, Asking a question to students and then writing the answer as stated by them. /Sauu™ fFenfiar & uy ga-1 iR fihx IR & facpa 99 &1 a1 [Option
ID = 15687]

Correct Answer :-
« Writing the important points as clearly as possible. / T dTdl &1 W& dd T™d & TI¥al ¥ foRg1 [Option ID = 15688]

6) Which among the following states has the highest number of seats in the Lok Sabha?

Prafaf@a wsal § @ 5w Tsg 9 die gy § W) 9 g.n waffie 82 [Question ID = 3890]

1. West Bengal / 9f&% e [Option ID = 15558]
2. Gujarat / TRTT [Option ID = 15560]

3. Tamil Nadu / @fHeTg [Option ID = 15557]

4. Maharashtra / HERTE [Option ID = 15559]

Correct Answer :-
= Maharashtra / HERTY [Option ID = 15559]

7) Which award was given in 2017 to 'International Campaign to Abolish Nuclear Weapons' (ICAN) for outstanding contribution?

‘et FREdt® 8g SiaRigiy sifirar @1 2017 # frw fafkne gwar @ wefa féar mar? [Question ID = 3888]

1. Gandhi Peace Award /Tiel rifd [Option ID = 15550]

2. Ramon Magsaysay Award / Y5 U [Option ID = 15551]
3. None of these / $TH ¥ @5 el [Option ID = 15552]

4, Noble Peace Prize / Fieid Mifd JR¥H R [Option ID = 15549]

Correct Answer :-
« Noble Peace Prize / dd 2ifd Q3¥HR [Option ID = 15549]

8) Select the alternative which consists of positive factors contributing to effectiveness of teaching:
List of factors:

(i) Teacher's knowledge of the subject.

(ii) Teacher's socio-economic background.

(iii) Communication skill of the teacher

(iv) Teacher’s ability to please the students.

(v) Teacher's personal contact with the students.

(vi) Teacher's competence in managing and monitoring the classroom transactions.

Codes:

fRrgror Bt wHTaEIRGT # ATEH & aTd YERTHS SRS| aTd [dFeq $T 999 BIfI:
PRSI DI Gl

(i) sreaTaes & faug &1 3+

(i) 3reaTus St ArATfere-anfde ggyf

(iiii) SIATIS BT AUYT HILA

(iv) faenfdfat &t Sqp 33 $ srearas St ggar

(v) farenfiat & w1y sreaTus &1 sfdaa Wud

(vi) BT THAER & WATA X ATYTU H HATIS BT &HaAT

$c:

[Question ID = 3919]

1. 1, iii and vi [Option ID = 15676]

2. iii, iv and vi [Option 1D = 15674]
3. i, iii and iv [Option ID = 15673]
4, i, iv and v [Option ID = 15675]

Correct Answer :-

« 1, iii and vi [Option ID = 15676]

9) A dialogue between a human-being and a computer programme that occurs simultaneously in various forms is described as:

79 3N TReY UM 3§ eg AN UTEul § R AR WO 5 T §a1G 9 @61 9 B
[Question ID = 3926]

1. interactivity/ ke T [Option ID = 15704]

2. man-machine speak/ ELatER [Option ID = 15701]
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3. binary chat/ TN 9T [Option ID = 15702]
4. digital talky SCE T (0400 1D = 15703]

Correct Answer :-

» interactivity/ ke Fefet [Option ID = 15704]

10) Identify the important element a teacher has to take cognizance of while addressing students in a classroom.

Fen ® faenfiay &1 waifia $vd T9g A gRT @ # 1@ W ard Agayyl a @ P UgE S|
[Question ID = 3918]

1. Avoidance of proximity / TT-® ¥ §947 [Option ID = 15669]

2. Fixed Posture /FRUR HfTHT [Option ID = 15672]

3. Repetitive pause / Wﬁ?ﬁﬁ?ﬁ# [Cption ID = 15671]

4. Voice modulation / @& T&RTeTd UREd (aT% ATgeH) [Option ID = 15670]

Correct Answer :-
« Voice modulation / a& TRTETd URad- (al@ ATga-) [Option ID = 15670]

11) If RADIO is coded as 'UDGLR’, PHOTO will be coded as:

afe f&d &2 § RADIO &1 ‘UDGLR’ foran @ @ PHOTO & &1 forg?
[Question ID = 3932]

1. OIPWR [Option ID = 15725]
2. OTOPT [Option ID = 15726]
3. SKRWR [Option ID = 15727]
4, SKPWR [Option ID = 15728]

Correct Answer :-
«  SKRWR [Option ID = 15727]

12) Inthe series AB, EDC, FGHI,.........cceennus , OPQRST, the missing term is

ST AB, EDC, FGHI,.....0c0euenrenns , OPQRST ¥ FeT UG &- [Question ID = 3896]

1. JKLMN [Option ID = 15581]
2. NMLK] [Option ID = 15583]
3. JMKNL [Option ID = 15582]

4, NMKL [Option ID = 15584]

Correct Answer :-
«  NMLKJ [Option ID = 15583]

13) In the series 3, 11, 23, 39, 59,..............the next term will be

$Ee 3, 11, 23, 39, 59,..ccc0ruennens ¥ 3FTE H@ giifl- [Question ID = 3897]

1. 83 [Option ID = 15587]
2. 63 [Option ID = 15585]
3. 73 [Option ID = 15586]
4. 94 [Option ID = 15588]

Correct Answer :-
. 83 [Option ID = 15587]

14) A teacher can be successful if he/she

U AAUF AFd 8 GHdl ¢ die 98 [Question ID = 3924]

1. prepares students to pass the examination / faenfifaf @t ufven & Iivl g & fo GOR T 81 [Option ID = 15695]

2. helps students in becoming better citizens / faenfal &1 sgar AR &= & &g a1 ¢/ [Option ID = 15693]

3. imparts subject knowledge to students / fanfdal & fawg &1 39 2ar 8l [Option ID = 15694]

4, presents the subject matter in a well-organized manner / fawgas ! Yogaffud 27 9 U &3al g1 [Option ID = 15696]

Correct Answer :-
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- presents the subject matter in a well-organized manner / fa¥da¥q & Youafeyd &7 § U &2l & | [Option ID = 15696]
15) The Kathakali dance belongs to the state:

FuFel T o T W waRE &7
[Question ID = 3934]

1. Andhra Pradesh / 318 %% [Option ID = 15735]
2. Tamil Nadu / el g [Option ID = 15734]

3. Kerala/ @%@ [Option ID = 15733]
4, Assam / FUH [Option ID = 15736]

Correct Answer :-

. Kerala / BV [Option ID = 15733]

16) Who was crowned as "Miss World 20177

fay 4e&t (fory aeg) 2017 &1 f@ama fFw o
[Question ID = 3891]

1. Manushi Chhillar / A7 §t f&eeR [Option ID = 15561]

2. Sana Dua / 91 31 [Option ID = 15564]

3. Ujjala Raut / SSTe 134 [Option ID = 15562]

4. Priyadarshini Chatterjee / oraef3ft =resif [Option ID = 15563]

Correct Answer :-
+ Manushi Chhillar / -] § féseeR [Option ID = 15561]

17) In which city India’s First Distance (Open) University is situated?

UIRT T FaUYH g3y (o) fayferenea wsi Rua &2
[Question ID = 3893]

1. Hyderabad / 8&=T4Tg [Option ID = 15570]
2. Allahabad / ScTgldlg [Option ID = 15571]
3. Delhi / f&@ [Option ID = 15569]
4, Ranchi / 3! [Option ID = 15572]

Correct Answer ;-
» Hyderabad / %az dlg [Option ID = 15570]

18) In which country ICC under 19 Cricket World Cup held from 13 January — 3 February, 2018?

SITEART 3i83-19 fbde fAy® T F71 Maw= 13 9=ad | 3 Wradl, 2018 7% f&w 3 & amyifora fFam a1 UT? [Question ID = 3889]

1. New Zealand / =Iuillcig [Option ID = 15553]
2. England / 3768 [Option ID = 15555]

3. Ireland / SITOXES [Option ID = 15556]

4, Australia / G{Rﬁfﬁm [Option ID = 15554]

Correct Answer :-
»  New Zealand / =guifcis [Option ID = 15553]

19) If you get an opportunity to teach a visually impaired student along with regular students, what type of treatment would you like to
give him/ her in the class?

gfe amue! wrrg faenfifat & ary-wry =Es fenfdal 1 oM &1 saax iR, o emu $am & 59 TR 39S 1Y TGN ST 961? [Question
ID = 3921]

1. Not giving extra attention because majority may suffer. / fafva — e =81 <1 Fuifes sftesis &1 g1 ot s m%l [Option ID = 15681]

2. You will think that blindness is his/ her destiny and hence you cannot do anything. / 30 G f& SRTTT IHET W & 3R S8R 39 $5 78] & b
€I [Option ID = 15683]

3. Arrange a seat in the front row and try to teach at a pace convenient to him/ her. / 31 @1 tfad ¥ i @1 suawy1 w31 R 39+ o gfauems nfa 3
g1 &1 SR &A1 [Option ID = 15684]
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4, Take care of him/ her sympathetically in the classroom. /@& 5 HeTHfd ¥ @] $E-3E $HA11 [Option ID = 15682]

Correct Answer :-
» Arrange a seat in the front row and try to teach at a pace convenient to him/ her. / T Ht dfga H die $f sTaw &A1 3R 39 ford ﬂﬁﬂ]\_ﬂﬂ? HIG]
U & HIY HATI [Option ID = 15684]

20) Jhoolan Gowsami is a famous player of which game?

e T i @w 91 it witan faers &2
[Question ID = 3895]

1. Cricket / féFdhe [Option ID = 15580]

2. Badminton / defiieq [Option ID = 15577]
3. Chess / 2Id¥d [Option ID = 15579]

4, Swimming / TT&t [Option ID = 15578]

Correct Answer :-
» Cricket / e [Option ID = 15580]

21) The average of four consecutive even numbers is 27. The largest of these numbers is:

AN AR W9 e &1 g 27 &1 3 | HeW a9 ' aF 9 87
[Question ID = 3927]

1. 28 [Option ID = 15708]
2. 32 [Option ID = 15706]
3. 36 [Option ID = 15705]
4, 30 [Option ID = 15707]

Correct Answer :-
« 30 [Option ID = 15707]

22) Mohit walks 10 m in front and 10 m to the right. Then every time turning to his left, Mohit walks 5, 15 and 15 m respectively. How far
is Mohit now from his starting point?

Hifgd 3o | St 3T 10 Hiew iR ifgst 3 10 Hiex gorar 81 fire wifta sroeit ardi oik gs-gs®w S0 5, 15 30T 15 Hiew gaar 81 Aifga 39
T A0 IRy fig & et g w82

[Question ID = 3899]

20 m [Option ID = 15593]
15 m [Option ID = 15594]
5 m [Option ID = 15596]
10 m [Option ID = 15595]

CoR T

Correct Answer :-
«  5m [Option ID = 15596]

23) Out of four cities given below three are alike in some manner while the fourth one is different. Identify the odd one-

= few 7 9 west 7 @ i feelt = el = F e wu= €, st Jtun e e 21 599 ugeH Sife)
[Question ID = 3898]

1. Patna/ 9l [Option ID = 15589]

2. Rishikesh / W& [Option ID = 15590]
3. Lucknow / @&-% [Option ID = 15591]
4, Varanasi / GRTURT [Option ID = 15592]

Correct Answer :-
= Lucknow / T¥&3 [Option ID = 15591]

24) A party was held in which a grandmother, father, mother, four sons, their wives and one son and two daughters to each of the
sons were present. The number of females present in the party is:
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o Uret Smaifora @it s foras g1, firem, wram, aR q7, 39t ufert ofk weie g3 & Uw U ud & yfat sufua A1 urdf F sufRm afgmmsit #t T
fseTt &2 [Question ID = 3900]

14 [Option ID = 15600]
24 [Option ID = 15598]
18 [Option ID = 15597]
12 [Option ID = 15599]

F L e

Correct Answer :-
« 14 [Option ID = 15600]

25) Using websites to pour out one's grievances is called:

I @ 3 47 WES B WA TS FEA B 9 e &7
[Question ID = 3930]

1. Cyber venting / W3 e [Option ID = 15717]
2. cyber ranting /g4t L [Option ID = 15718]
3. web plea / 48 @ [Option ID = 15720]

4, web hate / Lol o [Option ID = 15719]

Correct Answer :-
« Cyber venting / 28 U7 [Option ID = 15717]

26) Which part of computer is known as ‘Computer Brain?

frafafea & ¥ o1 w1 $ogex &1 AT (Brain) 82 [Question ID = 3894]

1. Hard Disk / BTS f&%® [Option ID = 15576]

2. Central Processing Unit / Tg@ WA fAE [Option ID = 15574]
3. Programme / WIITH [Option ID = 15573]

4, Memory / TR [Option ID = 15575]

Correct Answer :-
« Central Processing Unit / ¥ga WRIRIT gHe [Option ID = 15574]

27) Effective teaching is a function of

Tt fRreror frafafEa & | & 82 [Question ID = 3925)

1. Teacher's satisfaction / f21&/@ @1 ¥dI¥ [Option ID = 15697]

2. Teacher's honesty and commitment / e &t "&"WI'\PI 3R ufdaga [Option ID = 15698]

3. Teacher's making students learn and understand / f1&/® @1 @11 &1 @1 3R THST [Option ID = 15699]
4, Teacher's liking for professional excellence /aTawTae A¥ar & Ul fies 1 S [Option ID = 15700]

Correct Answer :-

28) A good teacher must be
% 399 e &1 Afarda: [Question ID = 3920]

. resourceful and autocratic / ST YT WwBTER! g1 F1fel! [Option ID = 15677]

. resourceful and dominant / JOTH I YT H‘jr_q’f{ﬂf BT 98¢ [Option ID = 15680]

. resourceful and participative /JUTd& e T gURTt UgfRi &1 11 =1fgUI [Option ID = 15678]

. resourceful and authoritative /SUTIH A auT a1 wafy &1 81 91fgu| [Option ID = 15679]

B T I R

Correct Answer :-
« resourceful and participative /SIS ayT GeHTf wgfi &1 &1 I1fTI [Option 1D = 15678]

29) National flag of India was designed by:
WA T g @ fEw g

[Question ID = 3938]

1. Pingali Venkaiyya / fTell &1 [Option ID = 15751]
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2. Jawaharlal Nehru /9T &Iel 8% [Option ID = 15752]
3. Mahatma Gandhi / FETE 7Tl [Option ID = 15749]
4. Subhas Chandra Bose / B9 9% M ropion 1p = 15750]

Correct Answer :-
« Pingali Venkaiyya / f3T@l @521 [Option ID = 15751]

30) Who among the following can be asked to make a statement in Indian Parliament?

AT e ¥ e d | fhwe 7om 29 ® o oE o s 27
[Question ID = 3928]

1. Solicitor General of India / CHRIEY. IV 3% §RA 10 v 1p = 157113

2. Mayor of Delhi / &1 F1 ¥R [0ption ID = 15712]
3. Chief of Army Staff / &1 @ T ootion 1p = 15710]

4 AnyMLA; P8 TLTE T o000 1D = 15700]

Correct Answer :-

. Solicitor General of India ; CTHEY WF¥el 316 FRAT 1 400 1p = 15711

31) Who is the current chairman of the 'Rajya Sabha'?

ST YT & TIAT WHTART S 82 [Question ID = 3892]

1. Sumitra Mahajan / &= 58T [Option ID = 15566]
2. Hamid Ansari / B1ffg 3f4mdt [Option ID = 15567]

3. Najma Heptulla / oTHT 89dea [Option ID = 15565]

4, M Venkaiah Naidu / TH. d&1 A4 g [Option ID = 15568]

Correct Answer :-
« M Venkaiah Naidu / TH. d&41 719§ [Option ID = 15568]

32) Which of the following conclusion is logically valid based on statement given below?
Statement: Most of the Indian states existed before independence.

Conclusions:

(I) Some Indian States existed before independence.

(II) All Indian States did not exist before independence.

fr=fafla # @ o w1 oo =2 o awl w arfe s w0 @ &9 27
WY AN B SRR T WaFa $ UEe Jftaw | 9
qﬁ'UITﬁ':

[. %G & §9 U0 WaId & Ued Jfeaw i 9
1. 76 & @it T8 W 3 Tea afteeg § 8 9

[Question ID = 3929]

1. only (I) is implied / wad | wé 2 [Option ID = 15713]

2. only (II) is implied / aa 1198 81 [Option ID = 15714]

3. Both (I) and (1) are implied / 211 1 @& 11 %& 21 [option 1D = 15715]
4. Neither (I) nor (II) is implied / 7 mlw@gamall [Option ID = 15716]

Correct Answer :-
. only (N is implied ; 7@ T ¥ 1 05tion 1D = 15714

33) Which one of the following Articles of the Constitution of India safeguards the rights of Minorities to establish and run educational
institutions of their own liking?
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WA Wi &1 P A ST Jod §ED] © AUl THe @ diEe wensll 3 Wil 7 R 99 @
FRPR BT GERE Fvar &7

[Question ID = 3935]

1. Article 30 /¥30% 30 [Option ID = 15739]
2. Article 31/ ATHT 31 [Option ID = 15740]
3. Article 20 /FT%% 29 [00tion 1D = 15738]
4. Article 19 / FTD% 19 (0ption Ip = 15737]

Correct Answer :-
« Article 30 /¥ T®% 30 [Option ID = 15739]

34) As a teacher, select the best option to ensure your effective presence in the classroom.

U HUUF & 0 H wan o st wurd! Iufeufa gfafia 33 & g waiaw faeen &1 997 $9¢1 [Question ID = 3916]

1. Adoption of well- established posture / GeTfurd {ffraT &1 Sift&30T [Option ID = 15663]
2. Making aggressive statements /3T&hTHE FYF FHIT1 [Option ID = 15662]

3. Use of peer command / T8TRT GHISE &1 WG [Option ID = 15661]

4. Being authoritarian / WTfI@TR-aTd] E1911 [Option ID = 15664]

Correct Answer :-
+ Adoption of well- established posture / F¥TfUd HffraT &1 3f7fi&T0T [Option ID = 15663]

35) Parliament can legislate on matters listed in the State list:

HE o g @ vl ) FE o wea @
[Question ID = 3931]

1. With the prior permission of the President. ﬂ ety 3 b3l HT‘IE ¥ [Option ID = 15721]
2. In case of inconsistency among State legislatures. / B WREE § TE i D [Option ID = 15723]

3. At the request of two or more States. fa:l e I B 3 j!! R [Option ID = 15724]
4, Only after the constitution is amended suitably, / P4 WIAaH # TaG Al D  [Option ID = 15722]

Correct Answer :-
= At the request of two or more States. ,I’E:T W e I B TE W [Option ID = 15724]

36) If ‘friend’ bears relation to ‘friendly’ which word in the options given below bear the same relation with opponent?

gf2 ‘friend’ @ WaE ‘friendly’ ¥ & @ “opponent” & way fFw gm?

[Question ID = 3985]

1. Defeat [Option ID = 15939]
2. Hostile [Option ID = 15938]
3. Enemy [Option ID = 15937]
4. Contest [Option ID = 15940]

Correct Answer :-
. Hostile [Option ID = 15938]

37) "Education is the manifestation of perfection already in man” was stated by

fra=t w1 e waw & usd | oA qofen &1 snfavfa 8 2 [Question ID = 3923]

1. Sri Aurobindo / % 3Rfdg! [Option ID = 15691]

2. R.N.Tagore /=514 7R [Option ID = 15692]

3. M.K.Gandhi / HET&T Tt [Option ID = 15689]

4, Swami Vivekanand / T fad@Tg [Option ID = 15690]

Correct Answer :-
« Swami Vivekanand / Tt fdd@ g [Option ID = 15690]
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38) If 45X37 = 47; 57 X64 = 58 and 94 X 27 = 46, what will be 84 X 36 = ...?

gfe 45X37 = 47; 57 X64 = 58 3¥ 94 X 27 = 46, @ 84 X 36 TT EIN? [Question ID = 3901]

1. 36 [Option ID = 15601]
2. 48 [Option ID = 15602]

3. 57 [Option ID = 15604]
4. 54 [Option ID = 15603]

Correct Answer :-
= 48 [Option ID = 15602]

39) The first Indian to win a gold medal in Olympics was:

Hrafas § Wl e are WeE UBE YRA $E 27
[Question ID = 3937]

1. Abhinav Bindra / aﬁﬁﬂ fda [Option ID = 15748]
2. Bijendra Kumar / qoE GAR [Option ID = 15745]
3. Milkha Singh fﬁq‘_"m fi [Option ID = 15746]
4.p.T, Usha / T 2L B [0ption 10 = 15747]

Correct Answer :-
« Abhinav Bindra / J8 82T [option 1D = 15748]

40) The use of teaching aids is justified on the grounds of

Rreror Haeht TeaE-susvon &t Iuan fh i w1 YR &

[Question ID = 3917]

1. Attracting students’ attention in the class room. /@& ¥ faenfial &1 eo & fia F311 [Option ID = 15665]

2. Optimizing learning outcomes of students. /f&=nfifal & 3ifErma uftomdf &1 SPaH &A1 [Option ID = 15667]

3. Minimizing indiscipline problems in the class room /@&T B SRR &1 FHRT &1 &Y &1 [Option ID = 15666]
4, Effective engagement of students in learning tasks / i @@t #f faenfiat &1 wurdh &7 ¥ @71 [Option ID = 15668]

Correct Answer :-
« Optimizing learning outcomes of students. /fa=nfdat & 3ifaFm™ TRomEt &1 3FaH AT [Option ID = 15667)

Topic:- DU_J18_BED_SE_Topic02

1) gR & HE g0 ® Ue Jia:I0r o feaawdt 941 orsy Wew &1 94101 af 8, WY € g Huwar Wt § & @ B gHNT 3R i st 81 8,
5aH e, gemadinT ok St € Sudt Rpmr 78 g1 oifgw) &t yre=n =i 816 8, 550 A Feadt &, 981 geg ot @iy W godl g1 A=a S g
T wqferat g1t 81 v ot g8 5 a1 gan o ) o5 &Y, 79 g8 § R THRT A1 $Y 3R gOY 4 89 W U0 &Y, THRT HUIT HeHH &Y, I8 oita
H &9 $O Hew™ 1T &-- UHT 3T Y| 319 o1 ¥ o 31 a2 fieedt 3 9= e & v 9 aY st fea &ar fRe Soar &2 o1 s weame
HITTH SATT & a1 STUST 7 S T ATaT 82 SR A $15 987 sMeHT foraan ot srefaardt siv snerge wf =1 fewng 2, iar @ g gardt vt axs
W1 F1, WIeHTET BT 3R WE T Y@ 81 afe 3417 I/, UTHIHar b o b df 317 BRA 39 ged H FAde gy wgdt | gui &1 Hra-si &f 3ie-
TP THYAT, P! B8 BT, I7P 1Y =TS 3R WE BT AAER HA1 T8 ATER YT €| 531 | Arfore st # dreiigdr & gyars @re &t
POl BTy T 81 50N BHN 3= g wife agedl & | e

TSIt YIS §59 &1 91y HHd! ¢ Hife

[Question ID = 53379]

1, 98 e gt & [Option ID = 93503]
2. 98 §5U © F@adt € [Option ID = 93502]
3. 9g faw@mar 2Kt € [Option ID = 93504]

Correct Answer :-
« @8 g0 ¥ FA@adl & [Option ID = 93502]
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2) g & W g ® ue Sia:evr o feaawdt 94T sy Wew R &1 @aIvT at 8, WY € SIgeR Hear Wt § & Al Bt gHNT 3% 3mdiia st 81 8,
ad fe@mE, gemedinT ok Fudl 8 Sudt Rpmr 78 g1 wifgw) &t vre=n a=h 816 8, g5a A Foadt &, 96! geg &t @iy W g$al g1 aFa S g
qe wqferat g1t 81 v ot 9g € i @ gan o Yo% &Y, 76 @18 § SR THRT H1eX $Y 3R gEY d 89 W UH &Y, THART HUTT HeqH &Y, I8 oita-
H &9 $O Hed T84 &-- UHT 3T Y| 319 o1 @ & $1 a2 fieeht 3 = e & weian 91 a) st fea &an f@e Soar &2 o1 s wae
AT 3TT & aF STUHT 7 S Tl A1 82 SR A $I5 987 SMeHT fora=n ot srefaanit oiv snege w&f 7 fewng ¢, Wiar 9 a8 g9t Ut avs
WIET 1, WIeHTg BT 3R WE T YW 81 afe 317 I/, UrHIorsar gdd o T af 317 BRA 39S ged | FAde uga wngdt | gui &1 Hra-aii & dis-
TP FHYAT, P! B8 BT, I7F 1Y TS AR WE BT AAER HIA1 T8} TR Tl €| 531 | ArHifore st # drsiigdr & gears @re &t
POl BTy T B 1 TN FHNY 3= g wife agedl & |t s

T 6 ara &1 Y 8-
[Question ID = 53384]

1. Iutad gt &7 [Option ID = 93524]

2. U= @ §E @1 [Option ID = 93522]

3. WIfeP HieH, 39H a% @1 [Option ID = 93523]
4, ¢, Bied 3R WETd &1 [Option ID = 93521]

Correct Answer :-
+ WX G WE &1 [Option ID = 93522]

3) gOR & UE g ® Ue Sia:evr o feaawdt 94T sy Wee &1 @aivT af 8, WY € sIgeR Hear Wt § & A Bt gHNT 3% 3mdiia st 81 &,
ad feam, T=medinT ok Fudl 8 Sudt Rpmr 78 g1 wifgw) &t vre=n a=h 816 8, g5a A Foadt &, 96! geg &t @iy W el g | =g S g
qe wqferat g1t 81 v ot 9g € i @ gan o Yo% &Y, 76 @18 § SR THRT H1eX $Y 3R gEY d 89 W UH &Y, THART HUTT HeqH &Y, I8 oita-
H &9 $O Hed T84 &-- UHT 3T Y| 319 o1 @ & $1 a2 fieeht 3 = e & weian 91 a) st fea &an f@e Soar &2 o1 s wae
AT 3TT & aF STUHT 7 S Tl A1 82 SR A $I5 987 SMeHT fora=n ot srefaanit oiv snege w&f 7 fewng ¢, Wiar 9 a8 g9t Ut avs
WIET 1, WIeHTg BT 3R WE T YW 81 afe 317 I/, UrHIorsar gdd o T af 317 BRA 39S ged | FAde uga wngdt | gui &1 Hra-aii & dis-
TP FHYAT, P! B8 BT, I7F 1Y TS AR WE BT AAER HIA1 T8} TR Tl €| 531 | ArHifore st # drsiigdr & gears @re &t
POl BTy T B 1 TN FHNY 3= g wife agedl & |t s

IS PR F1 a1 2-
[Question ID = 53385]

1. FU3t fAPRER [Option ID = 93525]

2. THI % g@ ¢ = B | W [Option 1D = 93528]
3. G &1 §9 g@ 9H%H [Option ID = 93527]

4, 3197 70T @1 &% [Option ID = 93526]

Correct Answer :-
. gm’[ %‘:g@ 28 9= 14 o 9= [Option ID = 93528]

4) T & G g@ ¥ = APl | feaawdt a1 oS WRHR &1 &1 Ol §, WY € agR prerar Wi & S A &1 gUNT SR T iid St 81 8,
ad feam, T=medinT ok Fudl 8 Sudt Rpmr 78 g1 wifgw) &t vre=n a=h 816 8, g5a A Foadt &, 96! geg &t @iy W el g | =g S g
qe wqferat g1t 81 v ot 9g & i @ gan o Yo% &Y, 7 a8 § MR THRT H1eT $Y 3R gEY d 89 W U0 &Y, THRT HUIT HeqH &Y, IS oita-
H &9 $0 Hed 7T &-- UHT 3T Y| 319 o1 @ & $1 a2 fieeht 3 = e & weian 91 a) st fea &an f@e Soar &2 918 s ware
AT 3TT & aF STUHT 7 S Tl A1 82 SR A $I5 987 SMeHT fora=n ot srefaanit oiv snege w&f 7 fewng ¢, Wiar 9 a8 g9t Ut avs
WIT 1, WIeHTE BT 3K WE T YW 81 afe 37 I/, UrHIiorsar gdd o T af 317 BRA 39 ged H FAde uga wngdt | gui &1 Hra-aii & die-
TP FHYAT, P! B8 BT, I7F 1Y TS AR WE BT HAER HIA1 T8} TR YT €| 531 | ArHifore st # drsiigdr & gears @re &t
POl BTy T B 1 TN FHNY 3= g wife agedl & |t s

WIS it § A6ig 999 &1 Hoil |1 8
[Question ID = 53382]

1. H™ &1 H&9gR [Option ID = 93514]

2. 59 &1 41Eg [Option ID = 93516]

3. O™ &1 s0dgR HE@dl [Option ID = 93515]
4, U8 ®1 IESal [Option ID = 93513]

Correct Answer :-
« HIH @ Jdg $Iedl [Option ID = 93515]

5) ORI & YW@ gW@ | U= a0 A faawdt o S U &1 9401 |1 8, 1Y 81 AR pRaal Ht @ S AT B gHRT SR ity ®edt 81§,
¥ fe@mar, FmEdivA SR Hudt 8 Hudt Rrprr 78 g1 Tfew | 9 uraar 9= gidl €, 56y ° Fead! 8, 98 geu &1 aiy Wt aedl g1 aFa Fr gt
oot wgfuai gt 81 U o a8 & 5 i gun o 3 B $Y, 76 aT6 & ST THRT T $Y SN g d g0 W UH &Y, FURT AU HggH $, I7& sig-
H 89 $O HEd 1@ &-- UHT 34T B | 3TYs o1 & i o1 gfe fredt 3 o= e & weisn & oY et foa Fan e Soa1 82 o1 nust 9o
AT 3T 8 & 3TUsT 79 & B AT 82 FUR A 1S ge1 et faan ot srefayrdt o snerge = 7 fRang €, fier @ 98 gurdt smust ave
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gcollegedunlaa
India’s largest Student Review Platform

T



WRIHT 1, WeATe H1 3R WE BT W@ g1 afe 39 I, WrHIfrE Ude & T af 3 BRA 39 ged H e uga wedt | gart &1 yranat & -
BTF THFAT, D! b5 T, IAF 1Y T R WE BT AGER HI1 U5t oITeR FIedl 8| 531 | AHITS st H Ara gt & gears Grad i
Hoil gTY A 81 3R TN U F& wifa agedt & | srer

HAER FAd BT @rHTas ad 2
[Question ID = 53383]

1. O @1 Wig1a{l &) GHSAT @ Weyol sIaeR $1 [Option ID = 93519]
2. guf @1 Wranef & srPe dgR &A1 [Option ID = 93517)

3. ZERI @1 g g8 GHSHT 9 U §a [Option ID = 93518]

4, Ot WIEAISH & 3P d o0deR &A1 [Option ID = 93520]

Correct Answer :-
o O @1 Wi @) gHEET @ Wegl s9geR &3 [Option ID = 93519]

Topic:- DU_J18_BED_SE_Topic03

1) oo g af St S &
ITOTE AR RT U= HA ¥ &)
3fax # forae AR, 9o+ aui |

W Q@ A 4l T F9 HART|
Ul B Hevaw

& B AHAT H

farerm g1 @ H¢

e, 92 gwmm

3R 3t 3

arelt wfeat &

HY g9 YRt BT

rreiciaul!

T WA et
FRadfamyr

femfirdt 9k gag 7im &t e aw
3 YT S 4 a-of B

a1 tRdt ) W w=ftfe g fEam)
# Hoigy g9l ¢l 31 awdl | |12

HAgY U AT T8 Bl -
[Question ID = 53388]

1. I4& d99 Rl H1 IR H4 [Option ID = 93537)

2. 75 fenfidt =t fdfe um1 %5t @ [Option ID = 93540)
3. 98 Y¥el &1 =Y YR [Option ID = 93539]

4, 98 odf ®! 9% & a9 [Option ID = 93538]

Correct Answer :-
» dg ¢dl & F%i! § g9 [Option ID = 93538

2) # AeigR qF oal B awdt F |
SATROTE 9 &1 4R &4 Tt g9
3fex # fora an, 34 auf &

WY @l 9 (Rt &1 ¥ HaRT|
R BT HeeaH

YA B AT H

farem g1 @ %

difeai, @21 garTI

3R 3 3

arelt gfeat o

Y A9 YA BT

ISR B

TN WTHT YTl

& fEa o € amar ur

fenfiedt 9k gag i #t fAda R
Y YR Bt ¥ ol B

T SRl Wt Wi qur fEerg)
# Horg g 2 o1 awit | e
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Huige fgaray &t g A 7 e = amn -
[Question ID = 53389]

1. ¥o wTe! ® e f@am & f&U [Option ID = 93542]
2. I @1 gt o9 & fo1u [Option ID = 93541]

3. ot evet & R & fore [Option ID = 93543]

4, o1 W @il 59 & fie [Option ID = 93544]

Correct Answer :-
« Tt tRet & féd @ fou [Option ID = 93543]

3) # Aoigy U ¢al Bt I |
ST A ¢RT O A ¥l &g
3ieR ¥ e R, 39+ aui 9§

WY @l A 4R T F9 HaRT
YRl B Havad

A B AT H

farar g1 8 3%

e, 921 gamI

1Y MY 3

qret afeat #

Y A9 YRt BT

ISR B |

TN T Yt
FRadfamyr

femfirdt 9k gag 7im &t e aw
HY Y &1 Y e-en o7

d71 et W W waftiy gug fEem)
H Hoigy g ¢dl @1 awdl | 17

3pTfora @1 FATETdf 8-
[Question ID = 53392]

1. U [Option ID = 93554]

2. U [Option ID = 93556]
3. 3f9ilA [Option ID = 93553]
4, U [Option ID = 93555]

Correct Answer :-

« 3forfta [Option ID = 93555]

4) # AuigY g <91 B a9 |
SATIOTE IR &RT R # T 991U
3o # foree AR, 9o+ aul &

W RE! A R T F Y HARTI
YRl B Yeaw

CIEk Ak ni R

forem g1 8 %

difeai, @=1 gam

3T MY 3

arelt gfeat o

Y A9 YA BT

SER B |

T W Yl

& fga o & amar ot

feafidt #k gae & Frfa urn
A Yt v ar-ot aw

quT wRel W i w@fvfa gu fEere)
o HorgR g 3af @1 awi | ur?

HTei & forg Iugas s ghm-
[Question ID = 53387]

1. Aig? 3 29 [Option ID = 93533]
2. Halg & Pasd [Option ID = 93534]
3. Oage @] fi@®ul [Option ID = 93535]

-
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4, Rt 3R AeE [Option ID = 93536]

Correct Answer :-
« AT 3 HEed [Option ID = 93536]

5) # Aoigy U &ai $t I | &
ST & RT U #A @l &g
3fa¥ # fore= ar, 39 aul 9@

Y @l A 4l &1 ¥4 §aRT
Rl B Hevaw

& B gHAT |

forem g1 8 ¢

Wfead, 9 gwmm

3R 3t 3

areft wfeat o

Y 99 YRt BT

creicdeaul!

9 Tt eRedt

FRadfam

fewfiedt $ir gag i @t fFfa ur
# YT a1 Yl e o7
@t w1 wftig qu f@em)
H Hoigy g9l ¢l 31 awdl A 12

FuT uvdt R Wt waftf qur fEeme @ w19 &1 ared @ fe-
[Question ID = 53390]

1, deft ¥ erelt W 99 & e @ [Option ID = 93545]
2. g 4l UX HiH & e f@ey [Option ID = 93546)

3. Sl ¥R & HEEl | gU-H30 faar [Option ID = 93547]
4, 390 YR O HH & Tl @@ [Option ID = 93548]

Correct Answer :-
 FOX Ul B Bl °§ §U-H fda1 [Option ID = 93547]

Topic:- DU_J18 BED_SE_Topic04

1) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Colonial policy and modernisation led to the destruction of:
[Question ID = 4003]

. rural infrastructure [Option ID = 16012]

. major industrial infrastructure [Option 1D = 16009]
. urban infrastructure [Option ID = 16011]

. irrigation infrastructure [Option ID = 16010]

B R

Correct Answer :-
» rural infrastructure [Option ID = 16012]
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2) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Which one of the following have a profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their
ecological interrelations?

[Question ID = 53394]

1. Ruskin and Tolstoy [Option ID = 93564
2. Jain teachings [Option ID = 93561]
3. Bhagavad Gita [Option ID = 93563]
4. Christian sermons [Option ID = 93562]

Correct Answer :-
» Bhagavad Gita [Option ID = 93563]

3) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Gandhiji's active non-violence is derived from:
[Question ID = 4004]

1. Freedom of action [Option ID = 16015]

2. Moral restraint of not injuring another being [Option ID = 16013]

3. Having liberties, desires and acquisitiveness [Option ID = 16014]

4, Nature-blind technology and enslavement of human spirit and energies [Option ID = 16016]

Correct Answer :-
= Moral restraint of not injuring another being [Option ID = 16013]

4) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
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about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Gandhiji's overall social and environmental philosophy is based on human being's:
[Question ID = 4001]

1. need [Option ID = 16001]
2. wealth [Option ID = 16003]
3. desire [Option ID = 16002]
4. welfare [Option 1D = 16004]

Correct Answer :-
« need [Option ID = 16001]

5) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Gandhiji's deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative:
[Question ID = 4002]

1. economic thinking [Option ID = 16008]
2. rural policy [Option ID = 16005]

3. urban policy [Option ID = 16007]

4, social thinking [Option ID = 16006]

Correct Answer :-
=« social thinking [Option ID = 16006]

Topic:- DU_J18 BED_SE_Topic05

1) Which of these does not use a magnet?
et 4 & o 94 51 WA T8 Fvar 27

[Question ID = 4207]

1. Electric fan 19l @1 T o uon 1o — 16826]
. Computer hard Disc ¥ 4% &1¢ R [option ID = 16827]

5
3. ovb 9 @ E [option ID = 16828]
a 1o v TE IR 000D = 16825]
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Correct Answer :-

. LD TV T .3 o [Option ID = 16825)
2) B & Weg A @ ¥ I IN 3fE 77 781 82 [Question ID = 4029]
1. 9817 [Option ID = 16114]
2. §9119 [Option ID = 16113]
3. §¥gH [Option ID = 16116]
4. SWTed [Option ID = 16115]

Correct Answer :-
+ ST [Option ID = 16115]

3) WGR eg B UTHT BT 82 [Question ID = 4027]

1. fédt [Option ID = 16107]
2. 3&l [Option ID = 16106]
3. BIRE! [Option ID = 16108]
4, Yot [Option ID = 16105]

Correct Answer :-
« TR [Option ID = 16108]

4) Sarkaria Commission was set-up for the inquiry of: / eI i #t vy Fafafafa @ o ge A & fere §"a‘ dt? [Question
ID = 4045]

1. Education Reform / f21&T g [Option ID = 16180]

2. Upliftment of Backward Classes / &g @i & I&= faw [Option ID = 16179)
3. Jail Reform / 9 YR [Option ID = 16177]

4. Centre-State Relation | $-Te HIE% [Option ID = 16178]

Correct Answer :-
« Centre-State Relation / -5-31d H¥&E+ [Option ID = 16178]

5) 9 HEd f%H TSR &1 U= 82 [Question ID = 4026]

1. ¢ [Option ID = 16103]

2. ¢TI [Option ID = 16104]

3. O ¥¢ [Option ID = 16101]
4, gifire [Option ID = 16102]

Correct Answer :-
« TIffie [Option ID = 16102]

6) In which circumstances the President of India may proclaim National Emergency? / WIRdId Tpufa smurasTa @ Sguryon fa= ufvfRufaal
# ®Y gPHal g2

[Question ID = 4044]

1. Armed Rebellion / T¥%d fa%ig [Option ID = 16175]

2. War / §& [Option ID = 16173]

3. External Aggression / d@Tgl JHTsHHUT [Option ID = 16174]
4, All of these / 395 ¥ T4t [Option ID = 16176]

Correct Answer :-
« All of these / 371 & Tt [Option ID = 16176]

7) Name the figure of speech where a comparison between two things are made. [Question ID = 4038]

1. Alliteration [Option ID = 16152]

2. Metaphor [Option ID = 16150]

3. Simile [Option ID = 16149]

4. Personification [Option ID = 16151]

Correct Answer :-
+ Simile [Option ID = 16149]
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8) Fill in the blank selecting correct article from the alternatives given below - He aspires for ......... post of a professor.
[Question ID = 4036]

1. The [Option ID = 16143]

2. A [Option ID = 16141]

3. None of these [Option ID = 16144]
4. An [Option ID = 16142]

Correct Answer :-
= The [Option ID = 16143]

9) What is meant by a religious discourse? [Question ID = 4034]

1. a sermon [Option 1D = 16136]

2. to preach [Option ID = 16133]

3. a sanctorum [Option ID = 16135]
4, a stanza [Option ID = 16134]

Correct Answer :-
» a sermon [Option ID = 16136]

10) TR & &9 U ® - [Question ID = 4024]

1. Tef, wd, 3R [Option ID = 16096]
2, ¥9f, W, 3T [Option ID = 16095]
3. €Y, g%, 3 [Option ID = 16093]
4, g%, 94, I [Option ID = 16094]

Correct Answer :-
. &%, &, W [Option ID = 16094]

11) The relationship between the ‘value of money’ and the ‘price level’ on the economy is - / 3ara®T WX "I & geu” oY ‘o0 w1’ & §9
H4Y § - [Question ID = 4041]

1. Inverse / fa@H [Option ID = 16162]

2. Proportional / 3UTf® [Option ID = 16163]
3. Direct / W& [Option ID = 16161]
4, Stable / f&R [Option ID = 16164]

Correct Answer :-
« Inverse / fd@™ [Option ID = 16162]

12) Choose the most suitable one word- "place where skins are made into leather.’

[Question ID = 4035]

1. Granary [Option ID = 16138]
2. Monastery [Option ID = 16140]
3. Tannery [Option ID = 16139]
4., Bakery [Option ID = 16137]

Correct Answer :-
« Tannery [Option ID = 16139]

13) Choose the correct word to replace the underlined word in the sentence — "Nowadays children see a lot of television.”
[Question ID = 4037]

1. Visualize [Option ID = 16147]
2. Observe [Option ID = 16145]
3. Look [Option ID = 16148]

4, Watch [Option ID = 16146]

Correct Answer :-
« Watch [Option ID = 16146]

14) Choose the appropriate antonym of 'focused’
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[Question ID = 4031]

1. Distracted [Option ID = 16123]
2. Refused [Option ID = 16121]
3. Hated [Option ID = 16122]

4, Averted [Option ID = 16124]

Correct Answer :-
» Distracted [Option ID = 16123]

15) TaX- Wi BT I2TE § [Question ID = 4025]

1. TR [Option ID = 16100]
2. g1 [Option ID = 16097]
3. WSS [Option ID = 16098]
4, T [Option ID = 16099]

Correct Answer :-
+ TR [Option ID = 16097]

16) 3ig &1 3d & [Question ID = 4028]

1. S [Option ID = 16109]
2. STEd [Option ID = 16111]
3. &l [Option ID = 16110]

4. T [Option ID = 16112]

Correct Answer :-
= 5¢l [Option ID = 16110]

17) In 30 hters of mixture of milk and water, the ratio of milk is to water is 7:3. How much
water is to be added to the mixture that the ratio of milk is to water becomes 3:7?

T 3R U & 30 oA Mo # g 3R ol o Sgu 73 8| Ao A
fohamT o= e &g 3 g9 3R O @ Igu™ 37 B 9l 7

[Question ID = 4048]

24 liters /24 SleT  [Option ID = 16190]
40 liters / 40 =2 [Option ID = 16191]

1.
2,

3, 30liters /30 T [option ID = 16189]
4, O0Titers /60 2R o400 1p = 16192]

Correct Answer :-
« 40 liters / 40 F=7 [Option ID = 16191]

18) What will be the digit in the ten’s place of the number 3% x 210,
e 36 x 210 3§ e & WH W 3H 91 3@ 2 ?

[Question ID = 4047]

1. 1 [Option ID = 16186]
2. 5 [Option ID = 16185]
3. 4 [Option ID = 16188]
4, 6 [Option ID = 16187]

Correct Answer :-

19) Rhizobium (a Bacteria) which fixes atmospheric nitrogen are found in nodules growing m
a
EAegd, Tk San], S & Iam@ &1 7999 $ e e 3,919 Fm B

[Question ID = 4055]

1. All of the above
SIIE T A [option 1D = 16220)
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2. Leaves of leguminous plar!ts !
Faler el & gfcaarl | [Option ID = 16218]
3. Roots of leguminous plants
Follal OiEl & ST #
4. 5tem of Leguminous plants

WeAreR Ul BT H [oi0n 1D = 16219]

[Option ID = 16217]

Correct Answer :-
« Roots of leguminous plants

FoilaR GET & J=1 A [Option ID = 16217]

20) Black gold is actually
DT AT g | Fefofeg § | 71 &

[Question ID = 4057]
Petroleum / delfierera
1 [Option ID = 16226]

Gold which becomes black on burning / THT AT AT FAT &H 92 FHAT B
y, WIS [Option ID = 16225]
3. Gold sold in black market / BTl IER H F91 FH AT HIAT [Option ID = 16227]

4, Diamond / BT ro 0000 10 = 16228]

Correct Answer :-

Petroleum | deiftr=
. " [Option ID = 16226]

21)  Which statement among the following is incorrect?
f=fofed § 9 &9 91 FuF |98 T81 87

[Question ID = 4050]

1.112 = 11 x 11 x 11 [Option ID = 16199]
2. 71 = 7 [Option ID = 16197]

3. Dividend =(Divisor x Quotient) + Remainder/fT® = (M9& X HFIGd) + 06d [Option ID = 16198]

4.13 - 2(5 - 1) = 5 [Option ID = 16200]

Correct Answer :-
« 112=11x11x11 [Option ID = 16199]

22) * A man travelled a distance of 80 km in 7hrs, partly on foot at @ 8 km/hr and parly @
16km'hr on bicycle. How much distance he travelled on foot?
U el 3 80 fhall HieY &1 g 8 U fhaAl diex ufey g21 ot X 4 U5 9
B AN 16 ©S fhar Aiew uia "1 o W W AEfha goned 7 Ui | 99 @ |
TE e g Ued O H a9 Al ?

[Question ID = 4051]

1. 36 kms [Option ID = 16202]
2. 20 kms [Option ID = 16201]
3. 32 kms [Option ID = 16204]
4. 24 kms [Option ID = 16203]

Correct Answer :-
« 36 kms [Option ID = 16202]

23) A chain of small chemical units combined to form a large single unit is called a

TAAHS AT D TH Bl WA AT UH 9] THR 9T B, T Pl A
-5

[Question ID = 4056]

collegedunia:s

India’s largest Student Review Platform




Poly / dial
1. . [Option ID = 16222]
2, Polymer /9@F  [option ID = 16221]

3, None of these / ITIaT # | HIE 81| [Option ID = 16224]
4. Polythene / IR [Option ID = 16223]

Correct Answer :-
. Polymer / GTalY [Option ID = 16221]

24) What is the value of the expression x* + 3x2+3x +1, when x = 997
oft x =99 81, @ @ws x* + Ix+3x +1 F 5 T # ?

[Question ID = 4053]

1. (99)° [Option ID = 16212]

2. 99990 [Option ID = 16209]
3. (100)° [Option ID = 16211]
4. 10000 [Option ID = 16210]

Correct Answer :-
. (1{:!0]3 [Option ID = 16211]

25) Reforestation means

A BT FF B

[Question ID = 4058]

Restocking of the destroyed forests by planting new trees. / 74 U8 @M@ 9% & T &9 & [ Wifld &1 [Option ID = 16230]

o, Bumingtrees /T=T B T (op4i0n Ip = 16232]
3. Cutting trees / US.T B BT [ption ID = 16231]
4, Planting trees / IS T (option I = 16229]

Correct Answer :-

. Restocking of the destroyed forests by planting new trees. / 74 U8 @& 9% & T &9 & Y7 Wifld &1 [Option ID = 16230]

26) Product of two natural numbers, one of which has 7 in the unit place and the other is the
smallest 7 digit number having 7 in the ten’s place, will be of what type of munber among
the following?

2 e WoaR, B ¥ A TE A o B wW w7 8 i g 7 e ot v

o e O TR T WM W7 B F IO B e 3§ e ver & S
Bnfr 7

[Question ID = 4049]

1 even number / FF T [Option ID = 16194]
5. irrational number / FfAT FEm [Option ID = 16196]

3, fraction / ¥ [Option ID = 16193]
ey .
g, o044 mumber | RO WG 0100 10 = 16195]

Correct Answer :-
. evenmumber / T TS [option ID = 16194]

27) The ratio of the volume of two cones of the same height is 1/3 : 1/2. What will be the ratio
of their respective areas of the bases?

U$ §9F S915 a1l & A @ A1Gad B FUE 1/3 1 1/2 8| T IMN B EAGAT HI
S 4 g ?

[Question ID = 4052]
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1. 3:2 [Option ID = 16208]
2. 2:3 [Option ID = 16205]
3. 9:4 [Option ID = 16206]
4, 4.9 [Option ID = 16207]

Correct Answer :-
» 2:3 [Option ID = 16205]

28)  What value of ‘a’ will make the expression x2 — 2ax + 625 a perfect square?
‘a’ B PH W AW GG x° - 2ax + 625 B GO T F41 397 ?

[Question ID = 4054]

1. 15 [Option ID = 16213]
2. 50 [Option ID = 16216]
3. 25 [Option ID = 16214]
4. 35 [Option ID = 16215]

Correct Answer :-
+ 35 [Option ID = 16215]

29) Who among the following is a supporter of legal rights? / 1% # & &9 ST 3ifU®R &1 97T 82 [Question ID = 4046]

1. Henry Main / ERLEE! [Option ID = 16184]
2. Laski / S%h1 [Option ID = 16181]

3. Austin / 3Tf& [Option ID = 16183]

4, Mclver / H&TgaR [Option ID = 16182]

Correct Answer :-
= Austin / anfeeq [Option ID = 16183]

30) A ball rolling on the ground slows down and finally stops. This is because of
WM W el & UF dogw 96l B o ¥ v@ W 8| 78 B § il

[Question ID = 4205]

1. None of the above
SR H PR T [option 1D = 16820]
2. Force
@ B T [Option ID = 16817]
3. Less force applied
&% a4 & FRY [Option ID = 16818]
4, Friction
Y & & W [Option ID = 16819]

Correct Answer :-
= Friction
HYV @ & S [Option ID = 16819]

31) Choose the appropriate synonym of 'Caprice’ [Question ID = 4032]

1. Ornament [Option ID = 16126]
2. Pillar [Option ID = 16127]

3. Whim [Option ID = 16128]

4, Wisdom [Option ID = 16125]

Correct Answer :-
» Whim [Option ID = 16128]

32) Choose the correctly spelt word. [Question ID = 4033]

1. Inflammatory [Option ID = 16131]
2. Inflamatery [Option ID = 16130]
3. Infllammatory [Option ID = 16129]
4. inflamatory [Option ID = 16132]
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Correct Answer :-
» Inflammatory [Option ID = 16131]

33) WY1 H o B 518, forad @s 78 e o1 9o, ean 8- [Question ID = 4023]

1. IutE G+ [Option ID = 16092]
2. 901 [Option ID = 16089]

3. TR [Option ID = 16090]

4. 3&R [Option ID = 16091]

Correct Answer :-

« IURIE ¥+t [Option ID = 16092]

34) V-9 ® WA § - [Question ID = 4030]

1. 787 [Option ID = 16117]

2. &% [Option ID = 16118]

3. dg®H [Option ID = 16119]
4, HHYRY [Option ID = 16120]

Correct Answer :-
+ %g [Option ID = 16118]

35) Suez National Canal links up Mediterranean Sea with the - / ﬂ}!ﬁ“@'ﬂ'm; YA W &I wisdr g-
[Question ID = 4040]

1. Atlantic Ocean / 3Ediics HEHTR & |1y [Option ID = 16157]
2. Pacific Ocean / Welid TR & 1Y [Option ID = 16158]

3. Red Sea / ®ifed UIR & 1Y [Option ID = 16160]

4, North Sea / ST IR & TTY [Option ID = 16159]

Correct Answer :-
« Red Sea / #ifgd TR & T4 [Option ID = 16160]

36) The Doctrine of Lapse was introduced by - / 31UTd & frgr=a frwd gRT == 91 a1 U7 - [Question ID = 4042]

1. Lord Dalhousie / @1 S&&rail [Option ID = 16166]

2. Lord Curzon / @18 &uid [Option ID = 16168]

3. Lord Rippon / @S fY@H [Option ID = 16167]

4. Lord William Bentinck / @Ts faferan sife [Option ID = 16165]

Correct Answer :-
« Lord Dalhousie / @S S@aloil [Option ID = 16166]

37) 'Vernacular Press Act’ was passed during the regime of: / fFu® STI®HTH # 'IRATH R U T’ URT §3T [Question ID = 4043]

1. Lord Minto / @@ el [Option ID = 16170]
2. Lord Lytton / @1 fére= [Option ID = 16172]
3. Lord Curzon [@TE &Gl [Option ID = 16169]
4, Lord Ripon / @8 f¥u= [Option ID = 16171]

Correct Answer :-
« Lord Lytton / @S fdie [Option ID = 16172]

38) The skill of estimation is important for
M T B P e o weag @
[Question ID = 4208]

1. A scientist when performing an experiment in a laboratory P IS S T 3 AT 3R W [Option ID = 16829]
All of us in our daily life Y91 & WTEF & 8§ @ fTTI [option 1D = 16831]
A doctor when measuring our body temperature 3% 19 Head Ol BAN INR BT A9SH o VT 8| [Option ID = 16830]

Those of us who do not know how to measure accurately D m Wl el A FRAT el A | [Option ID = 16832]

B WM
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Correct Answer :-

« Al of us in our daily life U9 @ WIaT # & W @ fFU| [option ID = 16831]

39) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

Independence of the Commission means:
[Question ID = 4020]

1. have political powers. [Option ID = 16080]

2. have legislative powers. [Option ID = 16078]

3. have judicial powers. [Option ID = 16079]

4, have a constitutional status. [Option ID = 16077]

Correct Answer :-
+ have a constitutional status. [Option ID = 16077]

40) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

Accurding to the passage, the Election Commission is an independent constitutional authurity. This is under Article No.
[Question ID = 4019]

1. 356 [Option ID = 16074]
2. 324 [Option ID = 16073]
3. 161 [Option ID = 16076]
4, 246 [Option ID = 16075]

Correct Answer :-
» 324 [Option ID = 16073]

41) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

Fair and free election means:

[Question ID = 4021]
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1. lack of transparency [Option ID = 16081]

2. regional considerations [Option 1D = 16083]

3. to maintain law and order [Option ID = 16082]
4, role for pressure groups [Option ID = 16084]

Correct Answer :-
» to maintain law and order [Option ID = 16082]

42) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

The text of the passage reflects or raises certain questions:
[Question ID = 53395]

1. This would help in stopping the criminalization of Indian politics. [Option ID = 93566

2. This would ensure fair and free elections. [Option ID = 93568]

3. This would reduce substantially the number of contesting candidates. [Option 1D = 93567]
4, The authority of the commission cannot be challenged. [Option ID = 93565]

Correct Answer :-
= This would ensure fair and free elections. [Option ID = 93568]

43) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

The Chief Election Commissioner can be removed from his office under Article :
[Question ID = 4022]

1. 352 [Option ID = 16086]
2. 226 [Option ID = 16087]
3. 125 [Option ID = 16085]
4. 324 [Option ID = 16088]

Correct Answer :-
« 324 [Option ID = 16088]

44) The least dense planet is
PHASPATIUE &

[Question ID = 4206]

1. Jupiter
e [Option ID = 16822]
2. Saturn
T [option ID = 16823]
3. Earth

9 [option ID = 16821]
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4, Uranus
qou [Option ID = 16824]

Correct Answer :-
« Saturn
A [Option ID = 16823]

45) The Indian Sub-continent was originally a part of / HRdId JU-HETEY Herd: TP YN 4T - [Question ID = 4039]

1. Angaraland / RIS &1 [Option ID = 16154]

2. Gondwanaland / TifgaT-Teis &1 [Option ID = 16156]
3. Aryavarta / 3afad &7 [Option ID = 16155]

4. Jurassicland / SRT@ e @ [Option ID = 16153]

Correct Answer :-
+ Gondwanaland / Tf@dMTcis &1 [Option ID = 16156]

collegedunia:s

India’s largest Student Review Platform



